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Rtwywquwihu hhdp (C-5) h=20ud
1006 hwdwp
fupé (40-70) 10% - 2.64°
fupé (20-40) 35% - 9.14° 5
2 huh6 (10-20) 20% - 5.24° d 151729,6 2083,500 316 128 621,600
tuhé (5-10) 10% - 2.64°
fuht (0-5) wwq 25% - 6.5¢°
onip-1.1d3
3 | Rngnpwhwwnhly pwpdp dwlnunytunyewdp w/p h=6ud U2 145588 4149,900 604 175 641,200
4 | [nonpwhwwhy w/p h=6ud g2 145588 5688,900 828 235 573,200
5 | "B" whwh dwupwhwwnhl fuhn nwp w/p h=4ud g2 145588 4211,100 613 085 626,800
Cunwdbup IV. 2 477 337 430,896
V. hounplinbip U dnuppbip
1} | 2f2! Ljuingh RRnTh biunbgiud wmatigouhl # 75 5604,300 420 322,500
thgptipny h<0.54.
2 98-V Ywngh puwhnnh thfuptignud wwjrwugpwhu BE 8 4362,300 34 898,400
hgptipny h<0.54.
Lwtuopnp thtuptigwd 20a-VIl Ywpgh puwhnnh
3 | dgwynud Epu. 1.0d3 2.un. pwpdnud w/h nbnuithnfunud gl 75 1974,600 148 095,000
|gtuynywn 1 yd dhe. <bn.
Lwtuopnp thtupbigwsd 9a-V Ywpgh puwhnnh dowynid
4 | tpu. 1.0d3 2..n. pwpanud w/h nbnwihnfunid (gulnywn s 16 1647,000 26 352,000
1 lyd dhe. <bin.
10elV Ywpgh puwhnnh Jowynd pnynngbipny 5
¥ inbnwihnfunwd 504 |hgp (hwpentd. opntd. funwgnid) d 2 117,800 16750008
BSwuwwwnhh hwunyrhg bwuwwbu Yninwlws 10elV
Ywpgh puwhnnh pwpanud tpu. 2.5d3 9.un. 3
- nbnwihnfund thgp 1 4d dhe hbn. (hwpenud. opnd. U L 1507800 300:430,000
futnwgntd)
GppelubyEh dwu
Rtwywquwihtu hhdp (C-5) h=12 ud
fuht (40-70)-10% - 1.5643
fuhé (20-40)- 35% - 5.4643
1 | up6 (10-20)- 20% - 3.1242 ? 962,08 1371,600 1319 588,928
tuh6 (5-10)- 10% - 1.5603
fuhg (0-5)- wdwq 25% - 3.943
onip-1.143
2 | Bjnhwh dwupwhwwnhly fupn w/p h =4 ud g2 899,08 4223,700 3797 444,196
Ubtitnwnwlwl funnnywlutin @ 53004 0,000
1| Wwquwynwbwiht otipin h=10ud (dbw. funn. nwl) gl 2,145 5853,600 12 555,972
2 | Ubw. funnndwlubph @ 530x544 wbinwnpnud gdd 33 129420,000 4270 860,000
3 | Qpudblnwwgnid (2 2bpin tiwp phwninwdnd) qdd 31,2 3060,900 95 500,080
4 | Uhwany) ptnnut B-20 glluwdwubip s 2,4 116515,800 279 637,920
5 Siuwdwubph gpwdblynuwgnud (2 obipun tnwp P2 9 1261.800 11 356,200
| phuninuiny)
Cunwdbup V. 10 933 868,196
VI. puqdh funnignid 0+000-4u2+200




20a-VIl ywngh puwhnnh thupbignid wwjpwugpwhu
1| thgptipny s 248 3433,500 851 508,000
| h=0.5-1d
|| 9p-V
5 || 9~V lwngh puwhnnh thfuptignud wwjpwugpwihu 5 34 1978.200 67 258.800
(hgpbipny h=0.5-14
|| ipwdninnt pwunnud bwiuwwbu thiuptigws 20a-Vil
3 | Ywpgh puwhnnnud £pu.0.658° 9. . pwpdnid Jgs 236 2127,600 502 113,600
|| wenwthnfunud jgulnywn 14d dhe.hkin. (1x0.4x620)
4 || Unyup &binpny u? 12 15516,000 186 192,000
Fupwdninnt pwunnud bwiuwwbu thiuptigywsd 9a-vV
5 || Ywngh puwhnnnid £pu.0.650% 2.:n.4nnph Yninwynud e 65 855,000 55 575,000
(1x0.4x170)
6 | Unyup abinpny g3 3 9996,300 29 988,900
Fupwdninnt pwunnud 10e-1V wpgh puwhnnnud .
/ tpu.0.65d% 2.in.ynnph Ynunwlnud (1x0.4x1410) 4 a0 872500 284 21,000
8 || Unyup abinpny s 28 5312,700 148 755,600
UJwah bwhwwwwnpwuwnwlwl stipn h=10ud 5
9 (2200x0.4x0.1) d 88 6291,000 553 608,000
10 | Unp wnihbehibu funnndulh tnbnwnpnud d=50x3dd qdd 2200 1288,800 2 835 360,000
11 || Ninhn dhwgnid d=50d4 hwwn 2 2619,900 5239,800
12| Udwah wwywnwwuhs 2bipin h=20ud (2200x0.4x0.2) s 172 6291,000 1082 052,000
13 | “bnnwnwnd |hgp pnynnqbinny s 586 818,100 479 406,600
14 | dbwnwnwnd |hgp &tinpny gl 30 1818,900 54 567,000
|| Ywhiwwbu Yninwlwsd 94-V Ywpgh puwhnnh
15 || plpénud £pu.0.65d3 .. L wbnwithnfunid |gwynywn gl 16 1782,000 28 512,000
14yd dho.hkin.
Cunwdbup VI. 7 244 349,300
Vil. tpbuwdh Yunnignid
Gpywjtwlwl npEuwdh Yunnignd L=1804
Ud 3+240-4d3+360. Yu3+540-4yd3+560. Yui3+920-
4u3+940. ui4+080-|u4+100 (L=180v)
|| 206-VIll wngh puwhnnh thfuptignid wwypwugpw)hu 2
1 Hlapbinny h=0.5-1d (170x0.75x1) d 127.5 3408,300 434 558,250
9a-V Ywnpgh puwhnnh thfupbignud wwjpwugpwiht 3
2 | flgpbpny h=0.5-1 (10x0.75xI) d 3,75 1962,000 7 357,500
|| Ywtuopnp thfuptigwd 9a-V Ywpgh puwhnnh dowynud
3 || tpu. 0.65d3 2.n. pwpdnd w/h wbnwihnfunud a3 6,5 1769,400 11 501,100
|| lqwynywn 1 yd dhe. Lbin.
4 | Unwup dbinpny us 1 11431,800 11 431,800
Vuwfuopnp thfuptigywd 206-VIll wnpgh puwhnnp
5 || dpwynud Epu. 0.65d3 9.wn. pwpand w/h wbnwihnfunud s 1155 2112,300 243 970,650
gqulynyw 1 yd dhe. £<bn.
6 || Unwup abinpny a3 12 15400,800 184 809,600
7 || fuh6 40-70dd ubwywynpywsd puwhnnh dbg h=7ud 2 135 495,000 66 825,000
8 || Mpbuwdh Yunnignid gdd 180 9816,300 1766 934,000
Lwjtwlwu npbuwdh Yunnignud L=74d
Lu3+280. 4u3+320. u¥3+540. Yuy3+920. 4u4+080




|
| 206-VIIl Yupgh puwhnnp thfuptignud wwjrwugpwihu .
11| Banbnnd h=0.5.1 (51x0.75x1.1) g 42 3408,300 143 148,600
| the
[
| 9a-V Ywingh plwhnnh thiuptignud wwjeWugpWIhU 3
¢ | hapbpnd h=0.5-18 (23:0754.1:0.5) g *e 062,200 frsaRAe0
| Lwfuopnp thruptigdwsd 98-V Ywpgh puwhnnh dowynid
3 | kpu. 0.65d3 2.w. pwpanwd w/h wnbnwihnfuntd a3 18 1769,400 31 849,200
| jgwynywn 1 yd dhe. <bin.
| 4| onwp sbngny e | | 9921600 9 921,600
" Twfuonng thtupbgywd 206-VIll Yungh puwhnnh
Si Upwynud Epu. 0.6503 2.wn. pwp&nud w/h ntnwihnfunud g3 38 2112,300 80 267,400
| lgwynyw 1 4d dhe. Lbin.
6 | [uniun atnpnd | ) | 15400,800 | 61603200
7 |[ruh6 407080 ubupuainndud puwhnnh db h=7ud | \ | 18665.100 | 55995300
8 \ nblwdh Yunnmgnud l qdu 22395,600 1657 274,400
" [[swuwwwnphh hwunyehg Uwuwwbu Ynunwlwd 10elV
9 ||y. puwhnnh pwpanu tpu. 2.543 2.wn. nbnuthnfunud gs 845,100 23 662,800
‘ httnwnwpd |hgp 1 Yd dphg htn.
10 | Chunwnwnd hgp pnunnalinny | B | 812700 | 21130200
11| Cownwnuind ihge stinpnd | w HE | 1805,400 3 610,800
Cunusbtp VL. | ) 4 834 498,950
| Vill. Butiwuywphught bpwbikp \ ] \
1 || Lnp 6wu. upwuutiph wbnuinpnd. wjn pYnud l l \ \
- bwhuwaggniwgunn hwun 704 23304,600 16 406 438,400
- wnwybniejwl hwwn 16 28793,700 460 699,200
; - wpgbnn hwun 26 28793,700 748 636,200
[ - pwnpnn | hun 4 28793,700 115 174,800
LI inbnywindnipwil | hun | 20 10012,500 200 250,000
‘ - (pwgnighs nbnblwunynipjwl hwwn 30 13464,900 403 947,000
|
B s Rau a2 1,78 54377,100 96 791,238
(hwunniy rablwr}pwhgh)
- ﬁ;fﬁﬁ‘ﬂj‘:&ﬂ:ﬁ‘*z’dw“ & 3,11 54377,100 169 112,781
3] | bwuguuwy dbun. tunn 57x3.50d hwwn 702 22211,100 15 592 192,200
"4 | Upwany phinnbt hpup B-15 | # XL 48568500 3579 984,135
Cunwdbup VIIL. 37 773 225,954
IX. Lpwgémd
Lowgdnuwip punhwunip Julbipbup (phpdnywun 5
| V2T sl quahlutnh wibwigdup) 4 6030,95 | 9720,000 58 620 834,000
\ Cunwdkup IX. 58 620 834,000
i X. Upgbjwthwlngtibip
} Utiwn. wpgbijwthwyngutiph wnbnunpnud 3 4dd.
; Ywuguwyubn 24Gitp N16. pwjin 24 Ynawn gdu 15522 28088,100 435 983 488,200
| hwpywdwdwnhgny
j Ubiwn. wpgbwthwyngutinh wnbnunpnud 3 44d.
2 | Yubquuwlubp 2ubin N16. puyip 44 Ynawn qdu 2860 22952,700 65 644 722,000
hwpwdwdwnphsny
3 | Tnjpdbpughl ninnnnn, ynikuenp (C-1) pbnunpng | huwan | 86 4512,600 388 083,600




Cunudbtp X. |

(=

Gnwnwlwu dwpwn=102044 funnnyulubph nbnwnn

nud

| |
| |

502 016 293,800i\

©O

A~V Guingh ptiwhnnh thiupbignud
Juypwlgpwiht (hgptinny h=0.54

=

a2 69 4347,900

N

0a-VIl jwpgh puwhnnh thfuptignud
wwjewugpwhl thgptipny h=0.5d

@3 193,5 5586,300 1080 949,050

w N =
= N

06-VIIl Ywpgh puwhnnp thiupbgnud
ywjpwugpwiht |hgptinny h=0.5d

a3 126

9154,800 \ 1153 504,800

Lnnuiht wotuwnwupubin 10e IV Yungh puwhnnnu
hniuh nundw hwdwn tpu.1.0 43 2. pwpanuw w/h U
inbiquath. |gulnywn 1.0yd htn. ynw

43 1295,100 55 689,300

‘\
|
|
\

Znnuihl wpfuwwnwuputin uwfuonnp thtupbigyuwd 9n-V
Ywngh puwhnnnud hnwup ninndw hwdwn kpu.1.043
9.n. pupdnud w/h b nbnuwih. |guwynywn 1.0yd. htin.

ypw

300 005,100 J
4 45 964,800

28 1641,600

n

Znnuiht wluwnwupubn uwfuopnp thtupbigyuwd 20a-
VIl yupgh puwhnnnud hniuh ninndw hwdwn
fpu.1.0d3 2.un. punanw w/h U wnbinuth. gwynywn
1.04d. hkn. ypw

<nnwjhu wofuwwnwupubin bwfuopnp thtuptigqwd 206-
VI ywpgh puwhnnnud hnwh nipndwt hwdwn
tpu.1.0d3 2. pwpanuwd w/h U nbnwith. (guyniyun
1.0yd. hbn. ypw

a3 31,5 1967,400

61 973,100
14 1967,400

e 27 543,600

<nn. wofuwwnwuputbin 10e IV wpgh puwhnnnud
thnunpwyubinh thpdwu hwdwp £pu.1.0 43 2.1
pwpdnud w/h b wnbnuith. |guynyw 1.04d htin. ypw

a3 46 1295,100

59 574,600

Znnuiht wpuwnwupubin uwfuonnp thtupbigyuwd 9n-V
Ywngh puwhnnnud funnnyuwyh thnunpwyh thnpdwl
hwdwp tpu. 1.043 2. wn. pwnanud w/h U nbnwithnfunud
\gulnywn 1.0y htin. Ynw

Znnuyht woluwinwupubin uwluopnp thtupbigyuwd 20a-
VIl ywpgh puwhnnnud funnnyuyh thnunpwyh thnpdwu
hwdwp tpu. 1.043 2. . pwnanud w/h U nbnuihntunwd
\guynywn 1.04d htn. Ypw

Znnuyht wpluwinwlputp uwuopnp thiuptigwsd 206-
VIIl ywngh puwhnnnud funnnguyh thnunpwyh
dnpiwl hwdwn Epu. 1.003 2. 1. pupdnud w/h b
nbnwthn guynywn 1.04d htin. Jpw

03

60 739,200

37 1641,600
318 718,800

a3 1967,400

Znn. wyluwnwupubp 10e IV Yupgh puwhnnnud
thnunpuwijutiph thnpdwt hwdwp tpu.1.0 U3 Ynnph
Ypw Ynunwybiny hbunwnwpd thgph hwdwp

Znn. wofuwwnwupubin Uwfuonpnp thtupbigywd 9a-V
Ywngh puwhnnnud funnnyuyh thnunpwlubinh
dnpiwl hwdwn kpu.1.0 U3 Ynnph ynw Ynunwybny
htitnwnwnd (hgph hwdwp
Swlwwwnhwiht hwunyehg 10e-1V Yupgh puwhnnh
dowlynud Epu. 2.543 2.un. pwnand w/h U
intqwthnfunid htwnwnuwpd (hgph hwdwp 2.0yd

i
o

Udwquynuwéwih uwfuww. h=10ud

—
[o2}

ruGwjht hhdp h=30ud
Sfuwdwuh Ywnnignd Jhwany| ptivinuhg B20 F100
hhdptip

12 1967,400

99 646,200 63 973,800
g 838,800 109 044,000
g 105 949,500 99 697,500




w)pnynnatbipny 9a-V
p)atinph wofuwwnwupny 10elV

1796,400

nwitin | | 3534 | 115962,300 4098 107,682
Juwleuuught wipwbiutp 016 ASO0c 1=134u | | 6784 791,100 53 668,224
IGrnwnwyw dwpun= 1020 dd funnnwyh nbnunpnu

Tt 38 Yo cun Do, 103 qdd 1347 | 369042300 | 49709 997,810
L;ggh W hbuwwiht wnwdh dhwény pbinnu B20 5 me 81470.700 993 127.833
Py wdpwjhu opwdbynwwgnud 2 ginun nwp phunuing . ) ) 0,000

nnnduwly | qou | 1283 | 5872,500 753 441,750
nbunt G | 2593 | 1257,300 271 488,789
Chwnwnwnd |hgp \ ' l 0,000
w)pnynngtinny 10elV ' a3 ‘ 190 ‘ 808,200 153 558,000

g2 64 808,200 51 724,800

43 113,600

a)abingh wphuwinuwiipny 9a-V B

|

1796,400

16 167,600

Cunwdkup \

U bunwnulw dwpwn=12204d funnnywyutiph nbnunpnud

|

62 806 977,441

9a-V Ywngh puwhnnh thfuptignud £
wuwjpwgpwih (hgptinny h=0.54

20a-VIl fwngh puwhnnh thjupbignud i
wuwjpwugpwiht (hgptinny h=0.5u

206-VIIl Ywpgh puwhnnh thfupbignud 5
wuypwiugpwiht (hgptinny h=0.54

<nnuighu wuwwnwupubin 10e 1V Ywnah puwhnnnud
hniup ninndwt hwdwn fpu.1.0 U3 2.0 pwnanud w/h b a3
k. |gwynywn 1.0yd htn. Yypw

Znnuiht woluwinwupubin uwfuopnp htuptigyuws 9a-V
Ywngh puwhnnnid hniuh nupndw hwdwn tpu.1.0d3 P
g.n. pundnud w/h U nbnuth. |gwynywn 1.0yd. htin.

ypw

18,5 4344,300

377,5 5581,800

7 9146,700

27 1294,200

8 1640,700

Znnuiht woluwnwuputin uwfuonnp itupbgywsd 20a-

VIl jupgh puwhnnnud hnwuh ninndwt hwdwp &
kpu.1.0d3 2.un. pwpanud w/h b nbnuwih. |gwynywn

1.0yd. htin. ypw

Znnuihu wphuwwnwlplbn uwfuonnp ihtupbigwsd 206-

VIl Ywpgh puwhnnnud hntup nipndwu hwdwp P
Epu.1.0d3 2.un. pwpanud w/h U nbnwith. (gwynywn

1.0yd. htin. ypw

<nn. wofuwnwuplbin 10e IV yupgh puwhnnnud
thnunpwlutiph thnpdwu hwdwp tpu.1.0 U3 2.un. IS
pwpdnud w/h b inbinuith. [guynywn 1.0yd_hbin. ypw

Znnujhu wptuwwnwupubip uwfuopnp htuptigywd 9a-V

Ywnah puwhnnnud funnndwh thnunpwlh thnpdw e
hwdwp tpu. 1.003 2. . pwnanud w/h U nbnuihntunwd
|gwynywn 1.04d htin. pw

50,5 1137,600

1 1137,600

63 1294,200

18 1640,700

Znnuwjhu woluwwnwpubin bwfuopnp htuptigyws 20a-

VIl jupgh puwhnnnud funnnduwyh thnunpulh thnpdwt 5
hwdwp tpu. 1.043 2. . punand w/h U nbnwihnfunud
\guynywn 1.04d htin. Jpw

327 137,600

80 369,550

2107 129,500

64 026,900

34 943,400

13 125,600

57 448,800

1137,600

81 534,600

29 532,600

371 995,200




dnnwyhu wpluwwnwuplbn Uwfuopnp (htuptigywd 206-
VIl Ywpgh puwhnnnu funnnyuwyh thnunpwyh 3
qnpdwl hwdwn tpu. 1.043 7. . pwpanu w/h L d . a7, s0e Qazei00p

| wtinwipnfunud |qwynyw 1.04d htin. ypw

T dnn. wofuwwnwupubp 10e IV Yungh puwhnnnud
thnunpuwyutiph dinpdwu hwdwn tpu.1.0 U3 Ynnph gl 93 645,300 60 012,900
dnw Ynunwybny hbunwnwnpd (hgp hwdw
<nr. woluwnwupubn uwfuopnp thrupbigyuwd 9a-V
Ywnah puwhnnntd funnndwyh thnunpuljutbiph
thnpdwl hwdwn tpu.1.0 U3 Ynnph Ynw ynunwybiny 1 B2p.a00 4 226,800
hbuwinwpd lhgph hwdwp
Swlwuywphwihu hwunyehg 10e-1V Yungh puwhnnh
Jowynud Epu. 2.503 9.0 pwpdnud w/h U 948,600 124 266,600
inbnwithntunud hbunwnwind |hgp hwdwp 2.0yd
Uduqunuyuiht Uwpuwy, h=10ud 413 6417,000 m
huSwjht hhup h=30ud a3 114,89 5259,600 604 275,444
Gfuwdwuh Ywnnigntd Jhwény| pitintpg B20 F100 - 0,000 —
hhdpbip a3 24,2 115869,600 2 804 044,320
hputitin 5795 | 115869,600 6 714 643,320
Npduwlwwwihu wipwubp ©16 A500c |=144ud 54,48 790,200 43 050,096

Ubinwnulu dunin=122000 funndwh 108,9 581018,400 63 272 903,760

nbnunpnul.1gdd= 357.49 lg. wwuwnh hwuwn.12dd

:lggh W htuwluwhu wnwdh Jhwany| ptwnu B20 81405.900 283 124.758

wypnuynnatinn 10elV 808,200 144 667,800
wypnunngtinny 9a-V 808,200 8 082,000
o)abngh wphwiwlpny 10¢1V “W 34114,500

— T semen
U bumamulut dwpun=152004 unnduliitinh wnbunand —_—

9a-V Jupgh puwhnnh thfupbgnud

g3 62 4341,600 269 179,200
wuwjewgpwiht hgptinny h=0.54
T [ 20a-Vil yungh puwhnnh thfupbgnud X “ ) h
| ¥ puiigguuy (hapbny h=0.50 d 5578,200 334 692,00
206-VIll Lpapar p“‘“hg”: (rpuptagrut 9140,400 109 684,800
1.04d hbn. Jpw 10e-1V

h=0.54
27,5 1293,300 35 565,750
Znnuihu wiphuwnwupubip uwfuonnp thfuptigqwd

Znnuihu wofuwwnwupltn hniup nuindwu hwdwp
puwhnnnd hndih ninndwit hwdwp tpu.1.0d3 2. 5 6 222,400
pwpanud w/h U nbnwth. |gwynyn 1.04d. htn. Jpw d e 640,800 R

_ o8 | 10078 | 7018200 707 294,196
M s 13,8 6141,600 84 754,080

|
e

|

|
I

fpu.1.0 U3 2.un. pupanud w/h U k. (guynyn
9n-V




nnwyhu wfuwwnwuplbin Uwfuopnp ihtupbigywd
uwhnnnud hniuh ninniw hwdwn fpu.1.0d3 2.un.
wnanuwt w/h b nbnw. guynywn 1.04d. htin. Jpw
Oa-Vll

Cnnwihu woluwwnwupubin Uwfuonnp thtupbigywd

uwhnnnud hntuh ninndwl hwdwp £pu.1.0d3 2.0 A

wnanud w/h b wnbnuwih. [guynywn 1.04d. htn. Ypw . g 19164, 700 B BRI
)06-VIII

Cnn. wofuwwnwuputin funnnquyh thnunpwlutiph
npdwit hwdwp fpu.1.0 43 2.1 pwpanuw w/h U @ 106 1293,300 137 089,800
nnwith. [guynyun 1.04d htin. ypw 10e-IV

@3 5 1964,700 9 823,500

e Wi T8 1 - S - T Y

Znnwjhu wpuwwnwupubn Uwfuonnp thfupbigywd
puwhnnnd funnnywyh thnunpwlh thnpdwl hwdwp
tpu. 1.0d3 2. w. pwpanud w/h b nbnuithnfunwd
\guynywn 1.0yd htn. Jpw 20a-VlI

Znnuihu wpfuwnwupubn Uwfuopnp thtupbigdwd
pwhnnnd funnndubh inunpuh thnpdw hwdwp 5
Epu. 1.043 2. . pwnanud w/h b nbnwhntunwd : ToiEd; 00 17 gBas00

guynyw 1.0yd htin. Yypw 206-VIlI

a3 55 1964,700 108 058,500

a3 23 1638,900 37 694,700

78,5 870459,300 68 331 055,050

|
;

Znnuyhu wotuwnwputin Uwfuonpnp Utupbigywd
pwhnnnd funnnquyh qinunpwiyp thnpduwt hwdwp
tpu. 1.043 2. . pwpanud w/h b nbnwidhnfunwd
gulnyuwn 1.04d htn. Ypw 9g-V
Znn. wotuwnwupubn funnndwyh thnunpwlutinh
tnpdwu hwdwp tpu.1.0 U3 Ynnph Ynw ynunwybny a3 70 645,300 45171,000
hbinwnwpd (hgph hwdw 10e-1V
<nn. wyluwtwuputip uwfuopnp thtupbgwd
puwhnnntd funnnyuyh (hnunpuubinh thnpdwl .
hwdwp tpu.1.0 & Ynnph Ypw Ynunwybiny hbwnwnwna i 3 887,200 19.27,700
gph hwdwp 9a-V
Swlwwwphwjhu hwunypehg 10e-1V Ywngh puwhnnh
dowlnud bpu. 2.5d3 2.0 puwnanud w/h b I8 4 947,700 3790,800
wnbnwihnfuntd htnwnwna (hgeh hwdwp 2.0yd
Ujwquynwtwhu uwfuww. h=10ud m 6410,700 14 424,075
ruGwht hhiip h=30ud 101,69 m
auadoath Gunnignid dhuwding pounung 820 F100 -— 0,000
AUt wipuiliin 16 AS00c 1=235ud “ 59,36 790,200 46 906,272
Ubnwnulwu dwnun=152004 funnnyuyh 5
inbnunpnid.1gdd= 537 lg. wwwnh hwuwn. 1504 ¢
Juwptiph U hEUwywhu wnwdubnh Shwanyl peunnu 5 3.49 81347400 283 902,426
B20. F 200
Luywdpwihu andquuwgmd 2 obipin Lwp phunuiny -— 0,000
w)pnyrnanny 101V g m 807,300 53 281,800
[ -
w)pnunngbinny 9a-V 20 807,300 16 146,000
n)abngh wouwwnwpny 1061V g “m 16 143,300

|
i

|
I




n)atinph wofuwwnwupny 9p-V

| e |

3

| 1793700

21

io

wpwyjht thgp \

03

Cunwdkup

3,9

6138,000

Cwywpnyh b/p funnnywlubiph d=1.0d nknunpnd

|

AV Ywngh puwhnnh thiuntignid
yuwjpwlgpuiht thgpbinny h=0.54

)0a-VIl Ywpgh puwhnnh thfuptignud
yuwjpwugpuwht (hgptinny h=0.50

——— e

-

206-VIII Yupgh puwhnnh thfuptignud
wuwjpwugpwihl (hgptinny h=0.54

wnknwith. |guynywn 1.0yd hbn. ypw

Znnuwjhu wpluwwnwupubn Uwfuopnp thtupbigduwsd 9a-V
Lwngh puwhnnnud hnwh ninndwu hwdwn kpu.1.0u3

3
<nnuwjhu wipluwwnwupubip 10e IV Yupagh puwhnnnud
4 ||hnwp nipndwu hwdwn tpu.1.0 43 2. pwpanud w/p U

14

15

9., pwndnud w/h L nbnwith. [guynywn 1.04d. htin.
Upw

Znnwijhu wofuwwnwuplbn uwfuopnp thtupbigywd 20a-
VI yupgh puwhnnnu hnwup ninndw hwdwn
kpu.1.0d3 2.un. pwpanud w/h b nbnwith. (guynyn
1.0yd. htin. ypw

<nnuwihu wpuwwnwupubip uwfuopnp htupbigywd 206-
VIl Ywpgh puwhnnnu hnwh ninndwl hwdwn
Epu.1.0u3 2.un. pwpand w/h U nbnwih. guynywn
1.0yd. htin. Jpw

<nn. wotuwnwupubn 10e IV Junah puwhnnnud
thnunpuwlutiph tnpdwl hwdwn tpu.1.0d3 2.1
pwnanwd w/h U nbnwi. guynywn 1.04d htin. ypw

<nnuwyjhu wipfuwwnwupubp uwtuopnp upbgywd 9a-V
Ywpgh puwhnnntd funnnyuyh thnunpwyh thnpdwl
hwdwp Epu. 1.043 2. . pwpanud w/h b nbnuwithntunw
wynyw 1.04d htin. Yypw

<nnwjhu wofuwwnwuplbn uwfuopnp thtupbgywd 20a-
VIl wpgh puwhnnnud funnnywyh thnunpwyh thnpdwil
hwdwp Epu. 1.043 2. . pwpanud w/h U nbnuthnfunud
lgwynywn 1.04d htin. ypw

Znnuwjhu wpfuwnwupulin uwfuonnp thtupbigyws 206-
VIl upgh puwhnnnu funnnquyh thnunpuwyh
npdwt hwdwp Epu. 1.043 2. . pwn&nd w/h U
inbnwthnfunwd jguynyin 1.0 d hbin. ypw

4nn. wpfuwnwupulin 10e IV wngh puwhnnnud
¢inunpuiyutiph dnpdwt hwdwn tpu.1.0d3 Ynnph Ypw
nunwltiny hwnwnwnd hwdw

<nn. wpfuwwnwupubin uwtuopnp thtupbigywd 9n-V
Ywnpah puwhnnntd funnnywyh dhnunpwubinh
npdwil hwdwp tpu.1.0d3 Ynnph Ypw Ynunwybiny
hunwnwpd hwdw

Swuwwwphwhu hwunypehg 10e-1V Ywnah puwhnnh
dowynud Fpu. 2,503 p.1n. pwpanud w/h b
inbnwithnfunud_hbunwnwnd hwdwp 2.0yd

Udwquynubwihu Duuruwuwumnwummd h=10 ud
Gruwdwuh Ywnnignid Jhwany pwnuhg B20 F100

d3

L]3

03

03

03

03

03

03

63

d3

03

Lj3

03

60

129,5

25

71

4

25

59

104,5

22

126

20

4

19,04

4371,300

5616,000

9203,400

1302,300

1650,600

1978,200

1978,200

1302,300

1650,600

1978,200

1978,200

649,800

843,300

954,900

6456,600
0,000

5 381,100
21 483,000
75 709 108,332

262 278,000

727 272,000

230 085,000

92 463,300

67 674,600

49 455,000

5 934,600

10 418,400

97 385,400

206 721,900

43 520,400

81 874,800

16 866,000

40 105,800

122 933,664



hhdptip 116587,800 1660 210,272
hpwuubp 19,376 116587,800 2259 005,213
17 \ ;Jz)uagh . htuwlwht wnwdh Jhwany| pinnu B 20.F \ 11124 81910.800 911 175.739
| dwwpnyh b/p N12 onuwyh nbnunpnud v=0.35 U3
P=1.1in swihbipp 120x100x10ud
18 wun.wwnntu.Ac240=25.7 yg/u3. Ac500=67.714g/u3 hun 70 101020.500 2 071 435,000
B20. F200
Onwyutph Yunbnp Gawlynud (uwhbu\'\w[ablutznb&{wé
nhunnuiny)
gl 50,073 81910,800 4101 519,488

19 Onwlyubiph hhdptiph dhwany| pbinnu B 20.F 100
20 | Unutidwjh opwdbynwwgnud

6221,700

21

lPujwdpwihl opwdbynwwgnud 2 obipn nwip phunnuiny

1264,500

Lhwnwnwnd (hgp

70
403,071
|

0,000

435 519,000

509 682,015

|
|
|
w)pnynngbipny 10elV \ a3
|
|
|

tpu. 1.043 2. . pwpanuw w/h b nbnuthnfunwd
wlnywn 1.0yd htin. Ypw 9p-V

| e | 812700 | 115403400
tpny 9a-V a3 18 812,700 14 628,600
22 | wipnunnd nny 9a ‘ T J’
n)abngh watuwtnuiipny 10e1V g | 6 | 1806,300 28 900,800
p)atinph wofuwwnwupny 9a-V a3 \ 2 1806,300 3 612,600
| Cunuikup 19 166 080,991
Cwwpnyh &/p funnnywlubiph d=1.25¢ nbknunpnid
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206 -VIIl Ywngh puwhnnh thruptignud wwjpwugpwhu
thgptinny h 1.0-2.0d o3 32,89 2710,800 89 158,212

l 1969,200 58 288,320

0 3

Cbwwuinh - hpden hpwluiiwgnd - dhwanut | g 70,26 65168,100 4578 710,706
phwnnuhg ’ ’ ]

0400 | 6404690376
g8 10275,300

12 | Puduopuiit gnuibinuugnd m 1258,200 158 407,380
73 | Cobwuuunh ublghuitinh Ul dhawnn m 432,900 21 281,364
12 | Chuwnwnd (hgp pinndbnny 94 - m 809,100 59 816,763

Luwfuopnp (ruptignwd 206 -VIII Yungh puwhnnh
Jowynuip U pwpanud Epu. 1,003 2.n.w/h wnbin.[guynyun
dhusl 1.04d

Chuwwwwnh hpwth hnwuwbwgmd dhwanjlpbanhg

Zhuwwwinh hbnuwdwup  npBuwdh
hpwuw‘ul,ugmd

(qwdwpntpnih)

j

|




12 263 593,158

Cunwibup’ suwfuwwnbujwsd Swfuubip **
1 § 149 904 226,000
whnypp» ' 11% U uu<-u' 20%
nn wwhnwuyuyht upongtipp

* Updbpp Gpwnmd £ panp Swhuubipp, ubpwnyw «&

w* Qpupiwipbugws wzfquwbgbbph L Swpuubinh hwdwp qumqhnwmmh ynndhg Uum/w[wnmhu ypwdwnny
L{éwndwb' ytpghtipu Lnndhg hhdtwynpnn thwuypwpenRann (L/wmwnnqwu:ub wljpptiph, htnhtwluyht b mb[uthwab hulynnnipntl

ppwluwbwglinn whdbph bqanwgnL[aijutinh wnljwyniejwt) ubpluwywgybint nbupnid:

th{wlwphma-bwtuwhwth
S-8-93.Lstu-Swpl nbnulywu hzwhwqmmwh wqmnﬁw‘uluquphh g 0+000-

[y 19+889 hwwnyjush L[hnwuwnmgdw'u wztuwmwhp'uhph
ud 0+000-yd 9+500 hwwnywd

(Pwpwywl um r_l'uubnmrajwu ynnihg hnwuwhwgqblhp Luztuwmumgnhp)

tuhph dwpqh

Uu‘:wdltnl‘h Cunhwunip
b w5 wpdtipp (hwqup
R npwd)

quuwmumphhph wuywunuip

120126 1996,200 239 795 521,200
m 2763,000 978 820 380,000
84542 m 127 903 591,800

1575,900 37 860 682,320

I. <nnuyht wzfuwmwbpbbp

20a-VIl jupah puwhnnp thrupbignud wwjewugpwjhu
ihgptinny h=1-2d

206-VIIl Ywnap puwhnnf thtuptign
lhgptipny h=1 24

9a-V Yupah puwhnnh trupbignud
thgptipny h=1-24
Luwtuopnp fupbigywd 20a-VIl ywpah pwhnnp
dowynud Epu. 2.543 9.tn. pun&nud w/h 24024,8
ntnwthnfunud |gw nywn dhusl 1 Yd

Luwtuopnp upbigywd 20a-VIl wngh puwhnnp

Jdowynud pnynnabinny. inbnwthnfunud 304 ynneh 96101,2 575,100 55267 800,120
nunwynud

Luwtuonnp funbigywd 206-VIII uingh puwhnnp

dpwynud Epu. 2.503 .. punanu w/h s 70852 1575,900 111 655 666,800

inbnuithnfuntd [guiynyun dhugl 1 4d

Luwtuopnp (rupbgywd 20a-VIIl Ywpgh puwhnnh

dowynud pnynnabinny. inbnuihnfunud 304 ynnph a3 283408 574,200 162 732 873,600

) wwjpwbggwjh‘u

wwjewugpwihl

nunwynid
Luwluonnp thuptiglws 9a-Y ywngh puwhnnh

dowynud Epu. 2.503 2.un. pwin&nu w/h IS 28163,29208 1305,900 36 778 443,126
nbnwithnfunud jgw nywn dhusl 1 Yd

Luwtuopng thfunbigduwd 9a-Y Yungh puwhnnh

Jowynud pnynngbinny. inbnwithnfunud 304 Yynnph g3 112650,425 574,200 64 683 874,012

nunwynud
9a-V Yunah puwhnnh dpwynud pnynnatinny
inbnuihntunud 504 (hgp (hwnentd. onnud.

10195,68235 1327,500 13 534 768,320
17360,64223 1650,600 28 655 476,059

713,9583834 967,500 690 754,736

9a-V Junah puwhnnh dpwynud Epu. 1.04d3 2.un.

punand w/h L wbnuthnfunw |hgp 1yd (hwprentd.
onnud. futnwgnid
9a-V Yunah puwhnnp dowynud Epu. 2:5/13 i2: .
pwnany w/h inbnuithntuntd Jhugl 14d. ynunwynud
huwwwwnbph hbunwnwnd thgph hwdwn




eIV Yungh puwhnnh dpwlynud Epu. 2.502 2:un. 3
il & nuithnfunud (guilnywn St 14 d 1674426736 | 1067,400 17 872 830,985

e-IV ungh puwhnnh dpwynud pnynnatinny.

buiinfunud 30U Unneh Ynunwlnud 298,800 | 20 004788,5%7

elV yungh puwhnnp dpwynud pnynngtinny -

nwihntuntd 504 |hgp (hwppnud. gonnd. I8 5640,867515 1166,400 6 579 507,869

inwgntd)

De-IV yuingh puwhnnh dowynud Epu. 2.5d3 2.,

wnanud w/h b wnbnwthnfunud (hgp 144 (hwpenid. ¢? 5390,754276 1699,200 9159 969,665
nud. futnwgnid

Oe-IV ungh puwhnnp dpwlnud pu. 2.503 2.un- -

ywpanw w/h U inbnwithnfunud (hgp 2ud (hwppenud. g3 2611,019418 1812,600 4732733,798
nud. futnwgnid)

Oe-IV Ywngh puwhnnh dowynud Epu. 2.543 2.un. -

pwnanud w/h U wnbnuthntuntd (hgp 4yd (hwpend. @3 3798,687313 2037,600 7 740 205,269

onnid. futnwgnid

10e-IV Ywngh puwhnnh Jowynud kpu. 2.5 d3 2. .

pwndnud w/p wntnwithnfunud dhugl 14d. ynunwynid a3 80,65781964 1007,100 81 230,490

funnnyulutinh htwnwnwpd (hgph hwdwp

10e-IV Jungh puwhnnh dpwlnud Epu. 2.5d3 2. wn.

pwndnud w/p wnbnwthnfuntd dhusl 14d. ynunwlynud 1007,100 61 854,410
owwntintiph (hgph hwdw

10e-IV Jungh puwhnnh Jowlnud Epu. 2.5 i3 9. .
pwn&nud w/p wnbnuithnfunud dhtgl 1yd. Ynunwynud Ig 2111,717916 1007,100 2126 711,113
Ynnuwljubiph thgph hwdwn

10e-IV Jwngh puwhnnh Jowynud kpu. 2.5 d3 9. w.
pwndnud w/p wnbnwithnfuntd dhusl 14d. ynunwynud IS 5,179859977 1007,100 5 216,637
npbuwdh hbwnwnwnd (hgph hwdwn

-mmw-——

205311 Guingh pUwhnnh tfuntignud wupulgRuAit | - g 4648 1996,200 9 278 337,600
{hgptinny h=1 24 i [
206-VIIl ungh puwhnih tiupbgnid Lk 54 2763,000 149 202,000
2686 1512,900 4 063 649,400
03

ihgptinny h=1-2d

9-V Luingh puwhnnh thfupbigntd wwjpwugpWhU
- 443,700 2 062 317,600
54 443,700 23 959,800

Uuwnhbwuutiph Yunnignud uwuwwbu thrupbigdwd

9a-V Junah plwhnnnud pnynnabinny

(hgptipny h<0.54.

92V ungh puwhnnh thiuntignud wuwjeu

{hgptipny h=1-2d
d 5372 443,700 2 383 556,400
inbnwhntunwd dhtgu 204)
ugpuwyhu
ihgptipny h<0.54.

wlgpwjhu

nbigyws

Uutnhwuubinh Ywnnignu uwfuwwbu thtu
20a-VIl jupgh puwhnnnud pnynnabpny

(wnbnupntunid dhusl 204)

3
Uuwnhéwuubiph Ywnnignu 10e-1V Yupgh puwhnnnud . 503
1 211,500 1064 056,500
pnynnabinny (nbnuthnfunud Jdhugl 200) d
| 1945 769 960,167

Uuwnhdwuutph Ywnnignid uwuwwbu thfuptigqwd

206-VIIl ywpah puwhnnnud pnynngbpny

2021 Luana puwhnnn thiuptignud wupulgRuRt | - ge 1175 5698.800 | 6696 090,000

thgplipny h<0.5d. ' ’
4044 9338,400 37 764 489,600

(nbnupntunid dhusl 204)
206-VIll junagh puwhnnh thtupbignt
249 4435,200 1104 364,800

d wuwypwugpuwhl




nnuijhu wnniutiph hnwhwhwgnuﬁ uwiuwwbu

n.. pwndnid inbnwthnfunud (guynywn 14d dhohu
in

nnwiht wnnlutinp hpwlwuwgnud Uwiuwwbu
tuptigywsd 20a-VIl wngh puwhnnnud &kinpny.
wpanud Epu 0.65U3 2.un. inbnuthnfunud |guynywn
Jd dhoht htin.

s e = o clz® S

nnuyht wnnbph hpwlwuwgnu Uwiuwwbu

.. pupanud wnbnuihntundd (guynywn 14 dhohu
tn

4nnwihl wnniutph hpwywlwgnud wiuwwbu
hfupbigywd 206-VIII upgh puwhnnnud atinpny.
nwpanud Epu 0.6543 2. inbnuihnfundd guynyn
Jd dhohu htin.

|

Ynnuyhu wnniubiph hnwuumuugmd uwfuwuytu
dtupbigywd 9a-V

Ywpah plwhnnnud Epu 0.6503 2.un.. pwnanud
inbnwthnfunwd jguynywn 1 d dhopu htin

Unnwyhl wnnutph hnwuumwgnuj uwuwwbu
thrupbigywd 9a-V Ywnah puwhnnnu anpny.
pwpanu tpu 0.65d3 2.1 inbnwihntuntd lguynywn
14d dhohu htin.

Unnuyhu wnntutiph hpwywlwgnud 10e-IV wpah
puwhnnnud £pu 0.6543 2.un.. puin&nud
wnbnwihniunud lgulnywn 144 Jhght htin

YUnnwyhUu wnntubph hnwuwhmgmd 10e-1V Yupah

puwhnnnud abnpny. pwpanu tpu 0.65U3 2.
inbnwithnfuntd igwynywn 14d dhohu htn.

Il. Unnbwlubip
10e-1V Jungh uwfuwwbu dowlwd puwhnnh
pwnd&nud Epu. 2.5 03 2. w. w/h. inbnwihnfuntd

h=26ud

huhge.=10ud.

Iv. bppltlbh Jwu
Zwuwnhlwynp Lupwhhdp. (wlwquynwht)
ruGwywaquihu hhip (C-5) h=20ud

10042 hwdwnp

tuht (40-70) 10% -2.60°

tuhé (20-40) 35% - 9.1¢°

tuht (10-20) 20% - 5.24°

tup6 (5-10) 10% - 2.64°

huh6 (0-5) wjwq 25% - 6.50°

nip-1.143

runpnpwhwnhy pwnap 6wunmub‘ummwdp w/p
h=6ud

tungnpwhwnhy w/p h=6ud

"B" mhwh Jwupwhwnhy fupun nwp w/p h=4ud

h=10

V. howiptinkip L dnupplip

upbigyuwd 20a-VIl Yuwngh puwhnnnu tpu 0.65U3 &

63

hfupbgywsd 206-VIIl upgh plwhnnnud Epu 0.6543 §

03

03

03

d3

63

Cunwdkup 1.

03

ynnuwyutph Ihgp 1yd (hwpend. onnud. hunwignud)
Unnuwyubnh wdpwgntd Lut{wquuunmﬁwjhu uynieny £

Lunwdkup Il

ud 2

02

dl

\52

d2
Cunwdkup IV.

1117,807229

57,19277108

3842,04374

201,9562597

472,9958159

25,0041841

784,8493371

4115066292

5700,35

21924

111925,56

758475

72840,6

72840,6
72840,6

2199,600

12532,500

2199,600

16326,000

1843,200

12175,200

1427,400

6731,100

1539,900

639,000

507,600

2083,500

4149,900

5688,900
4211,100

2 458 728,781

716 768,404

8 450 959,411

3297 137,896

871 825,888

304 430,942

1120 293,944

276 989,227

63 062 078,892

8 777 968,965

14 009 436,000
22 787 404,965

56 813 414,256

158 028 266,250

302 281 205,940

414 382 889,340
306 739 050,660
1238 244 826,446



a-VIl jupgh puwhnnh thfuptignud wwjrwlugpwihu
ypbinny h<0.54.

-V yungh puwhnnh thfuptignud wwjpwugpwWhl
gptinny h<0.54.

whuopnp thfuptigywd 20a-VIl Ywpgh puwhnnh

ywynuw tpu. 1.003 2.n. pwpé&nwd w/h \ gd \ 75 1974,600 148 095,000
Gwihntunwd jgwynyw 1 4d dhy. <kin.
whuopng thfuntigwsd 9a-V Yuingh puwhnnh
IS 16 1647,000 26 352,000
|

75

5604,300 420 322,500

4362,300 \ 34 898,400

DelV Ywngh puwhnnh dowlynd pnynnqbinny
nnwthnfund 504 (hgp (hwppenud. opnud.
uinwgnud)

Swuwwwnhh hwunyrehg Uwhiwwbu Ynunwlwsd
OelV fwpgh puwhnnh pwpanid kpu. 2.5d3 2.un.
nbnwihnfunud |hgp 1 yd dhe htin. (hwppenu. gnnud.
unwgnu)

pwnu tpu. 1.003 2.un. pwpdnud w/h
nwipnfunud jgwnyun 1 yd Jdhe. <bin.
117,800 0,000
a3 92 1507,500 138 690,000

bprukyLh dwu

| | T P
" huwywquihu hhdp (€ -5) h=12 udfupt (40-70)-

0% - 1.56u3fup6 (20-40)- 35% - 5.461fuhé (10-20)- :
1| po% - 3.120° tuh6 (5-10)- 10% - 1.5603 fupt (0-5)- ¢ SETl L GATR0T. Lag
wywgq 25% - 3.9¢%9nip-1.1d°

2 |[5 whujh Swupwhuwnhl fuu w/p h =4 ud mm 1 831 311,846
Ubnwnuwlwu unnnjulutip ® 530dd -——

T 1 Uuquinubugh gbpun h=10ud (g, funn. nuw) m

3 | Ubun, funnnduwliubph @ 530x50d ibnuinpnud “ 3106 080,000
3 | Qpudbynwwgnud (2 obipwn nwip phunidny) m 69 454,604

+ | Upwany pinnu B-20 gjfuwdwutin e 116515,800

g1 15|
5 %};L:\Jj;:ubnh Qnmdquuwgmd (2 oipun wwip 1261800 8 259,055

Cunudbtp V. e

Vi, 2puigdh Gunmgnuf [f0+000-4u2+200 |

20a-VIl upgh puwhnnh thfupbignud wwjrwugpwihu
i1 {hgpbipny IS 248 3433,500 851 508,000

\ h=0.5-1d

|5 || 9a-Y Lnah pUwhnn thfunbgnud wuypubgRupt g 34 1978,200 67 258,800
hgptipny h=0.5-1d
fupwdninnt pwunnud uwfuwwbu thfuptigywd 20a-Vil
Ywngh puwhnnnud tpu.0.65d% 2. . pwnantd d 236 2127,600 502 113,600
inbnuthnfunud |gulnyn 14d dhe.htin. (1x0.4x620)
d

3
2
Fupwdninnt pwunnu bwfuwwtiu thfupbigywsd 9a-V
S Ywpgh puwhnnnud tpu.0.650° 2.n.ynnph Ynunwynid 1Y 65 855,000 55 575,000
‘ x0.4x170
M— 9996300 | 29988900

1 (x0.
|8
Fupwdnunnt pwunnul 10e-1V yuwnah puwhnnnud
7 kpu.0.654° 2.nynnph ynunwynud (1x0.4x1410) SR Erostl 364 212,000
8 5312700 | 148755600
9

§
5
mm_“
Ujwgh Uwruuuqumnwumwwuu otinun h=10ud 6291.000 553 608,000
Unp unihkehibb funnndulh nbnwn m 1288,800 7 835 360,000
N, Shwgnut d=5044 _ 2619,900 5 239,800
03

Urluigh wuzunuuluhs 2ipn_h=20ud (2200x0.4x0.2) e | 72 | 6291000 1082 052,000
Cbunwnuwnd (hgp pnunnabinny “ 818,100 479 406,600

2200x0.4x0.1)

pnud d=50x3dd

e
(TSR L A el =4




- wpgbiinn

14 | <Gunwnwnd |hgp atinpny 1Y 30 1818,900
Lwhuwwbu ynunwywd 9a-V Ywngh puwhnnh
15 | puwpanu pu.0.6503 2.4n. U wbnwihnfunud |gulynywn ik 16 1782,000
| 14yd dhg.htin.
Cunwdkup V1.
VIl pbtwdh yunnignid \
bpYwjtwlwl npttwdh Ywnnigntd L=180d
4 3+240-41i3+360. [i3+540-4u3+560. i3+920-
yui3+940. |u4+080-yu4+100 (L=1804)
06-VIIl ywngh puwhnnp thfupbignud wjwjpwugpWhu 3
4
hgptipny h=0.5-14 (170x0.75x1) ; S 3408,300
)a-V Luingh puwhnnh thiupbignud wuwjewugpuhU 3
hgptinny h=0.5-1d (10x0.75x1) g BB 15624000
Luwfuonnp thiuntigiuws 9a-V juinah puwhnnh
owynud Epu. 0.6543 9.1n. pwnanud w/h I8 6,5 1769,400
inGnwthntuntd igwynywn 1 4d dhy. hin.
Lniup dinpny 0 1 11431,800
Lwfuopnp ihtupbigywd 206-VIII Yupgh puwhnnh
dpwynud kpu. 0.6543 2.un. pwnanud w/h 3 115,5 2112,300
wnbnwihnfuntd igwynywn 1 4d dhy. <bin.
Lntup dbnpny I8 12 15400,800
tup6 40-704d ubwwynpywsd puwhnnh dtig h=7ud 2 135 495,000
Ypbuwdh Lwnnignu gdu 180 9816,300
Lwjuwlwu nptuwdh Ywnnigntd L=744
L§3+280. Yu3+320. Yu3+540. §3+920.
114+080
206-VIll yupgh puwhnnh thtupbignud wjwjpwugpwhu : 4 0
lhgpbipny h=0.5-1d (51x0.75x1.1) ! v 408,800
9a-V Yungh puwhnnh thiuntignid wuwjpwugpwIhu 3
(hgptipny h=0.5-1d (23x0.75x1.1x0.5) . 8¢ 662,900
Lwuopnp tfupbigduwd 9a-V hwinah puwhnnh
dowynul Epu. 0.6543 2.un. pwnanud w/h s 18 1769,400
nbnwithnfuntd iguynywn 1 4d dhg. <hin.
Lntup &bnpny i 1 9921,600
Lwfuonnp thfupbigywd 206-VIlI Ywnah puwhnnh
5| | dpwynw Epu. 0.65d3 2.Ln. pwnanud w/h ul 38 2112,300
nbnwihnfunud |gwynywn 1 yd dhy. <bin.
_6_ Lntup dbnpny g3 15400,800
7] tuh6 40-704d ubwwynpywsd puwhnnh dbig h=7ud a2 18665,100
8 | "pbuwdh Yunnignw géd 74 22395,600
Swiuwuwwnhh hwunyphg uwfuwwbu Ynunwywd
g | 10elV Y. puwhnnh pwndnud Epu. 2.503 2.un. g3 28 845,100
i wnbqwthntuntd hbunwnwnd thgp 1 Yd dhg htn.
110 | <twnwnwnd (hgp pnynngtipny e 26 812,700
1 | ¢inwnuwna |hge dtinpny s 2 1805,400
Cunwdkup VIl
VIll. Swbwuwphwyht pwubbip
1 | Lnp dwl. Upwiubiph nbnwnpnud. wjn pynt’
- uwhuwqgnipwgunn hwn 356 23304,600
2 | - wnwybniejwu hwwn 9 28793,700
hwwn 14 28793,700

54 567,000

28 512,000

7 244 349,300

434 558,250

7 357,500

11 501,100

11 431,800

243 970,650

184 809,600
66 825,000
1766 934,000

143 148,600

18 647,550

31 849,200

9 921,600

80 267,400

61 603,200
55 995,300
1657 274,400

23 662,800

21130,200
3 610,800
4 834 498,950

8 296 437,600
259 143,300
403 111,800



phijwnnnn 28793,700 86 381,100

hwwn 3
nbnGywundnip)wL “ 10012,500 90 112,500
wgnighs ubnaluindnipu “ 13464,900 255 833,100
02

wohunuljwl Uwhuwgdiul 54377,100 96 791,238
(hwunnly [ahlwrmuu'u;gh) : '
withwwnwywu uwfuwgdiwu 5

i § 54377,100 0,000
Luquuwl dbun. funn 57x3.504 mmw 7/907 151,600
Fhwiny; punu hpdp B-15 “m 48568.500 | 1815490,530
Clnuidbtip VIIL. —— 19 210 452,768
Lowgdnudp punhwuntp Juybptup (REPUNW UL o
LAt plnh wbwgdudp § 2859,95 9720,000 27 798 714,000

Cunudbup X. —— 27 798 714,000

Ubiwn. wnqblwthuuungutinh inbnnpnid 3 444.

Juuguuwyubn oJbin N16. pwijio 24 Ynownn qdd 28088,100 205 941 949,200
huwnywdwdwphen

Ubwn. uupqhuu¢wl4nghhnh inbnwnnpnud 3 404.

hwnywdwJdwphen

Mnjhdbpuh ninanpn uniuutiph (C-1) nbnunpntd m“

:

IN 34 4347,900 147 828,600
wuwpwugpwht (hgebnny h=0.5d
wuwjpwugpwht thgpbinny h=0.5d
o3 59 9154,800 540 133,200
wuwpwigpwihl (hgpbinny h=0.5d
hndup nupndwl hwdwp tpu.1.0 U3 2.0 puwnanud w/h g3 1295,100 11 655,900
L inbnuith. |guynywn 1.0yd htn. ypw
Znnuihu wptuwnwuputn Uwtuopnp thfuptigywd 9p-
V jupgh puwhnnnud hntuh nupniw hwdwp .
kpu.1.0u3 2.0 pwpanud w/h L inbnwith. guynywn . % 641,600 37 756,800
1.0yd. hn. ypw
Znnuihu wzruwmwngnhp uwfuonnp itupbigqwd
206-VIIl Ywpah puwhnnnud hntuh nuniwu hwdwp .
1967,4 157
tpu.1.0d3 2.un. pwpanud w/h L ibnuith. |guynywn g 967,400 5,759,400
1.0yd. hbn. ypw
Znn. wphuwnwuputin 10e IV wpgh puwhnnnud
\hnunnwlmbnh thnpdw hwdwp bpu.1.0 43 2.0 a2 20 1295,100 25 902,000
Znnuihu wzh.twmwhphhn uwfuonnp (htupbigywd 9n-
V junah pluwhnnnud tunnnywh thnunpwyh 3 47 606,400
thnpdwi - hwdwn tpu. 1.0d3 2. w. punanud w/h U ¥ 2 eEne '
d jgw 1.0yd htn. ypw

20a.V1l uingh puwhnnh thiuntgnd 5586,300 382 661,550
Znnuihu wz\‘uwmw’ughbn 10e IV Yupah phwhnrmuS
Znnuwjhu wzruwmumphbn uwfuopnp ituptigquwd
20a-VIl jupgh puwhnnnud hntup nunudwu hwdwp 3
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4 | Uduqubnuibuht Uwfuwwwinpuutnntd h=10 ud 6439,500 334 338,840
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Wy hntwdwuh apalw h (gudwpnipih) - 10275.300

hpwuwhwgmd 29.5
ApGUwdwht unnnduwubnh bRt 484 m 2475,900 50 557,878
Lujwdpwyhu anthnLuwgmd 158 407,380

432,900 21 281,364

CEuwwwunp utlghwubiph dholt dhownhn
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]6 punanud w/h U wnbnwihnfunud (hgp 1yd (hwpentd. a3 23749,24572 1699,200 40 354 718,335
| onnud. futnwgnid
101V Yuingh puwhnnp Sownud tpu. 2.503 2.0, -
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Qunh6wlubnh Yuwnnignul twfuwusu thtupbigywsd -

5 || 206-VIll Ywnagh pwhnnnu pnynngtipny a3 1 443,700 443,700
Inbnwthnfund htsl 204
Uuwnhéwuubiph Yunnignu uwuwwbu ihtuptigywd -

6 | 9a-V jwngh plwhnnnd pnynnabinny a3 17 443,700 75 872,700
intnwithnfunud 4 usl 200)

7 Uuih6uwtitnh Yuwnnignu 10e-IV junah aUwhnnnL - 541 %60 A
|
|

pnynngbinny (nbinwiintunud dhusl 204)
Cudbp . _— | 837 495 490,483

o (s s (phuptignd wupwlgpURt | s 2975 5698.800 | 16953 930,000
| ihgrtinny h<0.5d. \ ,

i
3 |[2081 g puwhnh gy bupulUgRuiRl | g3 1763 9338,400 | 16463599200
" |/ thgptipny h<0.5d.
|
| 9a-V Yuingh puwhnnh thuptignud wwjpwugpwWhU 3
3 hgpbnnd 0B, d 468 4435,200 2075 673,600
Unnuihu wnntukph hprw‘Uwgmd Vwiuwwbu
thtupbigywd 20a-VIl unpah puwhnnnud ainpny. 5
aunand Epu 0.65(13 2., inbnuthntunud (gwnyn d 144,8072289 12532,500 1 814 796,596
14d dhopu htin.
Ynnwyhu wnniuknh hpwuwhwgmd uwhuwwbu
3 4
2un.. punsnud nuithnfund jguwny 140 dhsht d 1674,95626 2199,600 3 684 233,789
htin
Ynnuyht wnnbnh hpwlwwgnud uwhuwwbu
(phuntiguud 9a-V 5 | 889,0041841 | 1843,200 1 638 612,512
inbnwthnfunwd jguynyun 1 d dhohu htin
Unnwjhu wnniutiph hpwuwhwgmd whuwwbu
(rupbigywd 9a-V Yupgh puwhnnnud atinpny. 5
auinsnu kpu 0.6503 2.1n nnuthnfund gwinge d 46,9958159 12175,200 572 183,458
144 dhop htin.
puwhnnnud Fpu 0.6543 2.u.. punanud
wihnfunw (guynywn 1 d dhohu htin
Ynnuyht wnnbnh hpwuwhwgmd 10e-1V Yupah
puwhnnnd atinpny. pwnanud £pu 0.6543 2. g2 82,84933708 6731,100 557 667,173
inbnuthntunud lgwynywn 144 dhohl htin.
e e socsisoi

‘ YUnnwjhu wnntutiph hpwuwhwgmd uwfuwuytiu

hrupbigywd 20a-VIl Yupgh pwhnnnud Epu 0.6543 s
i4 pan.. pndnu nbnuuthnfuncd (gunyun 144 dhohu d 2830,192771 2199,600 6225 292,019
| htn

hrupbigywd 206-VIIl Ywpgh puwhnnnu Epu 0.6543

Ynnwjhu wnntukph hnwuwhwgmd uwuwwbu

thrupbigywd 206-VIll ungh puwhnnnu atinpny. 3

pundnud bpu 0.6503 2.un. nbruhnfund gulinyin d 88,04374031 16326,000 1437 402,104

140 dhohu htin.

Lwnah plwhnnnu £pu 0.6503 2.un.. pwp&nu

Unnwjhu wnniutiph hnwquwgnLd 10e-IV Yupgh

i 1580,150663 1427,400

|




e-IV upgh uwhiwwbu tpwlywd puwhnnh
up&nwd bpu. 2.5 d3 9. w. w/h. wnbnuthntuntd

nuwyutiph (hge 1yd (hwppend. opnud. funwgnud)
£26ud
nnuwyutiph wdpwgnd wywquynwwhu ujnieny

gy g 639,000 14 044 581,000
Cunudtip - _— 22 844 570,535

V. bprolbrh duu | e e

nudnn Bupwhhdp. (wiwquynuné) h=10 ud e 507,600

ru6wlwaquwjhu hhdp (C-5) h=20ud
0042 hwdwn
tuh6 (40-70) 10% - 2.64°

_4 % - 9.1
EEZ ggzg)) igy/o _2 ]2‘33 U2 75882,1 2083,500 158 100 355,350
tuh6 (5-10) 10% - 2.60°
tup6 (0-5) wyjwq 25% - 6.50°
onip-1.143

o | e |

Fungnnuhunily pnan duwlinunlEUniEide wip 72747.4 4149,900 301 894 435,260
h=6ud . : :

rungnpuhwinhly w/p h=6ud m 5686.000 | 413 852683860

5" mhugh dwipwhuwunpl fupun wwp w/p h=4ud [ 4211000 | 306346 576,140
Clnuidblp V. —_ 1239 092 604,450
V. hguipbinbp 4 dnuppby R I PR

20a-VII yupgh puwhnnh ttuptignid wwjpwugpwjhu "
(hgetinny h<0.54. d 5604,300 0,000
3

a3 5714,65 1539,900 8799 989,535

dowynud Epu. 1,063 7.wn. pwndnid w/h
d
a3 15 1117,800 16 767,000
10elV Jungh puwhnnh pwnanu bpu. 2.543 2.
tuhé (10-20)- 20% - 3.1283
pvvanlal bt S I 151 R

9a-V Jungh puwhnnh thfuptignid wwjpwugpWhU
hgebnnd h<0.54. d 4362,300 0,000
inbnwthntunud |guynyun 1 dhe. <bin.
10elV Ywngh puwhnnh dowynud pninngbinny
inbnuithntunwd 504 hgp (hwpend. opnud.
3
inbnwthntunud thgp 1 4u dh9 htn. (hwpen. opnud. . Z4d L 361 800,000
‘ nwgnu)
| _——_
ruGwywauwihu hhup ( C-5)h=12 ud
4943 1371,600 677 981,880
tupé (5-10)- 10% - 1.564°
hup6 (0-5)- wdwaq 25% - 3.9483
UpoqumuGuyh 26nu h=10ud (dun. funn. sl m 5853,600
b, funnndujubnh @ 530x50d uwbinupnud “ 129420,000 | 1164 780,000
prdquuwgmd (2 2pun nwp phunuiny) mm 3060,900 26 045,476

Uwuopnp thfupbigyud 9a-V ywnah puwhnnh
IS 1647,000 0,000

Swuwwwphh hwunypehg uwhuwwbu ynunwlwsd

tuht (20-40)- 35% - 5.464°

onip-1.10°
2 | Bwhwh Jwupwhwnhy fuhn w/p h=4ud §2

S) p @ 530dd
d

Luwfuonpnp rupbigqwd 20a-VIl unah puwhnnh
dowynud bpu. 1.043 2.un. pwndnud w/h @ 1974,600 0,000
inbnwthnfunud jguynyun 1 d dho. £bn.
nwgntd)
tuhts (40-70)- 10% - 1.560°
Upwiny, phuntt B-20 giuwdwubn 116515,800 76 264,887

sl




Lwjuwlwb npkuwdh Ywnnigntd L=744
U§3+280. Yu3+320. u3+540. ,u3+920.
14+080

fuwdwutiph andbumuwgmd (2 obpwn wp

U2 2,45 1261,800 3097,145
qunnwiny)

Da-VIl wpah puwhnnp ihtuptignud mwj(awl,lgpwjhu

gpipny IS 3433,500 0,000
n=0.5-1d

hgplinny h=0.5-1d

upwdninnt puwiunnud wihuwwbu fupbigdwd 20a-Vil
Lwnah puwhnnnud tpu.0.65¢° 2. 0. pwpantd 1Y 2127,600 0,000
inbwithnfunud lguynywn 14d dho.htin. (1x0.4x620)

03

Unyup dbnpny [ | 15516000 0,000

Fupwdninnt puwiunnud uwhuwwbu fupbigywd 9a-V

Ywpgh puwhnnnud tpu.0.650° g.n.ynnph ynunwynud iR 855,000 0,000

(1x0.4x170)

[ Unyup stinpny “_ 9996,300 0,000

Fupwdninnt puiunnud 10e-1V jungh puwhnnnud 5

tpu.0.650° 2.n.ynnph ynunwynud (1x0.4x1410) . 679,500 1,000
Ujwah ‘thuwtuwmnwumwuwh obpwn h=10ud .
(2200x0.4x0.1) . 6291,000 papen
nn wnihkphiBb funnduiih wbnuannyd d=50x344 m_ 1288,800 0,000
(i Shuwgnul d=5000 m— 2619,900 0,000
(urch wgnuwhg g h=20ud (220010402 “_ 6291,000 0,000

Chnwnwnd (hgp pnynnatipny “ 818,100 0,000
Counwnuuipd (hgp 3tneny “— 1818,900 0,000

Lwfuwwbu ynunwywd 9a-V jwngh puwhnnp
wpanud kpu.0.6543 2.n. L wbnuthntuntd lguynyuwn ik 1782,000 0,000
0,000
bpuwjhwuum npuwdh yunnigntd L=180d

Uy 3+240-4d3+360. u63+540-|.|63+560.

u63+920-l|d3+940. lui4+080-l|ﬂ4+100 (L=1804)

206-VIIl ywunagh puwhnnp ihtuptignud wwjpwugpwhu .

hapbnny h=0.5-14 (170x0.75x1) 4 ga0R, 300 0,089

9p-V Ywngh puwhnnh thuntigntd wwjpwugpwhl 3

thgptinny h=0.5-1d (10x0.75x1) . 1962,000 0,00
Lwfuopnp funpbigwd 9a-V Yupah puwhnnh
dowynud Epu. 0.6543 .. pwnanu w/h a2 1769,400 0,000
inbnwihnfunwd |gwynyun 1 yd dhe. £bn.

Lwfuonnp x,htupbgm{uub 206-VIll ungh puwhnnh
dowynud Epu. 0.6543 2. puwnanui w/h g3 2112,300 0,000
qwithnfunud jgwynywun 1 yd dhe. <bn.

n
7T fuh6 407000 ubujuinpyuwd puwhnap g h=7ul _ 495,000

—
[=3
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6-VIII unah puwhnnp thtuptignud wwjpwugpwhu 5 3408.300 0.000

gptinny h=0.5-1d (51x0.75x1.1)
1962,900 0,000

-V Guingh puwhnnh thiupbgntd wwjpwugpwWIhU
gplipny h=0.5-10 (23x0.75x1.1x0.5)

ol
wfuonnp tupbigdwd 9a-V Ywngh puwhnnh
pwnud tpu. 0.6503 2.un. pwndnd w/h a3 1769,400 0,000
withnfuntd igwynywn 1 4d dhy. <bn.

nilip abinpny 9921,600 0,000

yufuonnp thtuptigywsd 206-VIII Yupgh puwhnnh
owlynud Epu. 0.65U3 2.tn. pwnd&nud w/h a3 2112,300 0,000
nbnwthnfunud [guynyun 1 4yd Jdhe. <bin.

03

Lniup 8binpny -— 15400,800 0,000
16 40-7000 ubuinnywd puwhnnh dg h=7ud _ 18665,100 0,000
Npbuwdh Yunnignid gdu 22395,600 0,000
d3
03

- 845,100 0,000

Swuwwwphh hwunyehg uwfuwwbiu Ynunwywsd
10elV Y. puwhnnh pwndnu Epu. 2.503 ..
nbnwithnfunud htwnwnwnd |hgp 1 Lyd dhg htin.

Chnwnwnd (hgp pnynngtinny 812,700
Conwnwnd (hgp dtinpny 1805,400 0,000
Clwdblp VIl _— 0,000

Vil Sutusyuiphughts 2wty -_—_
Lnp 6wu. bpwuubiph nbnunpnud. wn pynud’ -—_—
Thun | 12 | 26793700 345 524,400

o | |
- wuhwwnwywu whiwgdiwu — 54377100 0.000

(hwwnniy rablwr}nwbph)

- wuhwwnwlywl Uwhwgdiwu 169 112,781
(mbqbume{nLraJwU
_—_

Lowgdnudp punthwunip dwybnbup (rEnUNWWUN 5
171 9720,000 30 822 120,000
h=3ud. wwwlb qunhyutbiph wytwgdwdp) J 4 '

Ubwn. wr\qblwthwungprh wnbqunnnud 3 44d.
Yuguwlubip oyt N16. pwjin 24 Ynawnn
hwnpyuwdwdwphsn

Utiwn. wnqbu.uthqughbnh inbquinpnu 3 4dd.
Ywuguwyutin oJbin N16. pwjin 44 Ynownn
wnyuwdwdwphyn

h
3 han | 87|
Unwnwluwu dwpun=10204d tunqnd_wu'uhph nbnunpnud —

9a-V Juingh puwhnnh thfuntignd
wuwpwlgpwht thgpbnny h=0.5d

iii
i

|
i




N

0a-VIl yungh puwhnnh thtupbignud
2 a3 125 5586,300 698 287,500
wjpwugpwihlu (hgpbipny h=0.5d
06-VIIl wpgh puwhnnh thfuptignud
1Y 67 9154,800 613 371,600
Jwjewitgpwhl thgptipny h=0.54
nnuiyhu wiphuwwnwupubp 10e IV Ywnah puwhnnnid
nwh nunuwl hwdwn tpu.1.0 U3 2.1 punanud IE 34 1295,100 44 033,400
u/p U nbinuith. (guynyun 1.04d htn. 4pw
Znnwyhu wofuwwnwupltin uwftuopnp thrupbigyws 9a-
V Junah puwhnnnu hnwh ninndwy hwdwn
Fpu.1.0d3 2.u. pwpanud w/h U nbnuwith. gwynywn
.0yd. hbn. ypw
Znnwjhu wpfuwwnwuplbin uwfuopnp thfupbigywd
20a-VIl Ywpgh puwhnnnud hniuh ninndwu hwdwn
tpu.1.0d3 2.un. pwpanud w/h U inbnuith. gwynywn
1.0yd. hbn. ypw
<nnuwjhu wpluwwnwupbn uwtuopnp Utupbigywd
206-VII upgh pwhnnnui hnih ninnuiwl hwdwp
| pu.1.0d3 2.1 pwnanu w/h U nbnwith. (guynin
1.0yd. hen. ypw
Zn. wotuwnwupubn 10e IV Ywpgh puwhnnnu
8 | thnunpuwyutiph dnpdwl hwdwn tpu.1.0 U3 2.0 I8 26 1295,100 33 672,600
pwndnud w/h L nbnuih. [guynywn 1.0yJd hbn. Ypw
Znnujhu wofuwwnwuplbn Uwfuopnp hupbigdwsd 9a-
V jwnah puwhnnnud funnnywyh thnunpwyh :
. thnpdwiu hwdwn Epu. 1.003 7. w. pupdnd w/h U . . 161,600 13132,600
inbnwihnfuntd jgwynyun 1.04d htn. ypw
Znnuiht wotuwwnwpubn uwfuopnp thtupbigywsd
20a-VIl wpah puwhnnnu tunnnduwbh thnunpwyh 5
o thnpdwit hwdwp Epu. 1.003 2. 1. pupand w/p b q e (267400 196,740,000
inbnwithnfunud [gwuynywn 1.0 d hbn. ypw
Znnwiyhu wpfuwnwplbn Uwftuonnp thtuptigywd
206-VIIl junagh puwhnnnud unnnyuiyh thnunpwyh 4
L thnpdwit - hwdwp Epu. 1.043 2. w. pwpanud w/p W | 9 6t [0 Tagn el

inbinwithnfunud |gw nyw 1.04d htin. ypw

Znr. wohuwnwupubn 10e IV Yupgh puwhnnnud
12 | thnunpwlubinh dinpdwu hwdwn tpu.1.0 43 Ynnph @3 38 646,200 24 555,600
dpw Ynunwybiind hbwnwnwnd (hgph hwdwp

Znn. woluwnwupubin Uwfuopnp thfupbigdwd 9a-V

P G - SN =

a2 3] 1641,600 8 208,000

a3 25 1967,400 49 185,000

g2 6 1967,400 11 804,400

Ywngh puwhnnnid funnnywyh thnunpwlutinh .
nndw hwdwn kpu.1.0 43 Unngh Unuw d 14 838,800 95 623,200

nunwlbny hbunwnwnd hwdw
Swuwwwnhwjhu hwunyehg 10e-1V yungh puwhnnh
dowynud Epu. 2,543 p.n. pwnanu w/h b a3 68 949,500 64 566,000
nbnwithnfunud hbwnwnwnd thgph hwdwp 2.0yd
Ujwquynwtwhu twfuwy. h=10ud g3 2,5 6421,500 16 053,750
ruwjhu hhdp h=30ud a3 51,9 5263,200 273 160,080
Gruwdwuh Yunnignud Jhwany| pbnnupg B20

0,000

F100
hhdpbip 1Y 10,2 115962,300 1182 815,460
hpwuubip a2 18,2 115962,300 2110 513,860
Npduwluwwihu wdpwuutin @16 A500¢ [=134ud ug 33,9 791,100 26 818,290
Ubnwnuwlwu dwpwn= 1020 dd unnnwyh 42300 2 216 346,460
nbnwnpnud 1q61=249.08 4g. wwunh hwuwn. 10dd Spil 60,2 BARTAAC '
Jdwph b hbuwluwhu wunwidh dhwanyg pbnnu  B20 5 71 81470,700 578 441,970

F100




21

huinuing
unnnyuly g0 | 57 | 5872500 334732500 |
\bunt 1257,300 141 571,980

Dy wdpwhl opwdbyniwgnud 2 obipuin twp \ \ \ 0.000 ‘ J

I‘--—r'n-tn

Chunwnwnd |hgp 0,000

kpu.1.0d3 2.un. pwnpanud w/h L nbnwh. |guynywn

w)pnynnqtipny 10elV 808,200 82 436,400
22 | lw)pnuynngtipny 9a-V I 50 | 808,200 | 40410,000
o)abnph wohuwunwlipny 10elV e | 14 | 1796400 | 25149600 |
n)abngh wotuwnwlipny 9a-V e | 7 | 1796400 | 12574800
Clinwdblp | ] | 29166 393,150
Wbquwl{wh dwpun=122004 funnnwlutiph nbnunpnud l ‘ l
9a-V Juw uwhn kgnud
1 ‘ ngwjpliuugog:jhu th’;ir‘f\‘:l‘m:%.s ’ % ) 0 ‘ 4344,300 ‘ 0,000
20a-VIl Y uwhn bgnuwd
ijwggéﬁ;]ﬁ lhgpbmi]?r:j:n&% | \ A% ‘ 255 \ 5581,800 ‘ 1 423 359,000
206-VIll Ywngh puwhn bignud
i uwjrawutgpﬂill:upmggbr?mtg.sgu g L ° T i i
‘ Znnuiht wluwwnwupubn 10e IV Ywpgh puwhnnnud \ ‘K
2 | hnwh ninndwu hwdwp kpu.1.0 U3 2.un. pwpanul IS 245 1294,200 31707,900
‘ w/h U wbnwih. guynywn 1.0yd hbn. pw
‘ <nnuiht wuwnwupubn uwfuopnp thiuptigywd 9p-
5 V jupgh puwhnnnu hntuh ninndwt hwdwn 1640,700
|

1.04d. htin. ypw
<nnwjhu wofuwwnwupubin bwfuopnp thfupbigdwd
20a-VIl wpgh puwhnnnu hniwh nundwt hwdwp
kpu.1.0u3 2.un. pwpanud w/h U wnbnwth. [guynyn
1.04d. htin. Ypw

Znnwyhu wofuwwnwupubin uwfuopnp thfuptigdwd
206-VIIl Yupgh puwhnnnud hnwup nipndw hwdwp
kpu.1.0d3 2.un. pwpanud w/h L nbnwth. guynywn
1.04d. htin. ypw

<nn. wofuwwnwupltbin 10e IV ywpgh puwhnnnud

1137,600 52 329,600

thnunpwluinh tnpdwu hwdwp tpu.1.0 U3 2.un. I 1294,200 0,000
pwndnud w/h nbnwih. guynywn 1.0yd htn. Jpw

Znnuiht wluwwnwupubn uwfuonnp thruptigqwd 9a-
V Ywpgh puwhnnnud funnndwyh thnunpwyh 3 164 0.00
tnpdwu hwdwp Epu. 1.003 2. w. pwpanuwd w/h U J BAB,7CH 400
wnbnwihnfunid |gwynyn 1.04d htin. Ypw
Znnuwjhu wfuwwnwupubip uwtuonnp thfuptigyuwd
20a-VIl Ywnah puwhnnnud funnnduyh thnunpwyh 3 209 1137.600 237 758.400
dinpdwl hwdwp Epu. 1.043 2. n. pwpdnud w/h U J 0 ' '
inbnwthnfunwd [guynywu 1.04d htin. ypw
Znnwihu wituwwnwupubip uwfuonnp tfuptigqwsd
206-VIII Ywnah puwhnnnud funnndwyh thnunpwyh 5 1137.600 0.000
qinpdwu hwdwp tpu. 1.003 2. wn. pwnanuwi w/h U i ' '
inbnwhntund [gunywn 1.04d htin. Ypw
<nn. woluwwnwuputbin 10e IV Yupgh puwhnnnud
thnunpwlutinh thnpdwu hwdwp tpu.1.0 U3 Ynnph 1§ 45 645,300 29 038,500
dpw Ynunwybing hbwnwnwnd (hgph hwdwp
<nn. woluwwnwupubin uwfuopnp thiupbigdwd 9a-V

838,800 0,000

Yungh puwhnnnud funnnguiyh thnunpwljutinh 5
dnpiwl hwdwn tpu.1.0 U3 Ynnph Ypw
nunwybiny hnwnwnd |hgp hwdw




BSwuwwwnhwiht hwunyehg 10e-1V Ywnpgh puwhnnh

tpu. 1.0d3 2. w. pwpdnd w/h b inbnwithntunud
lgwynywn 1.04d htn. Ypw 20a-VIl

6| | dowynw Epu. 2.5d3 2., pwpénud w/h b s 125 948,600 118 575,000
nbnwihnfund  hbnwnwpé |hgph hwdwp 2.04yd
7| | Ujwquinwbwht bwfuww. h=10ud gl 2,66 6417,000 17 069,220
| 8| | huGwyhu hhdp h=30ud ul 54,52 5259,600 286 753,392
Guwdwup Ywnnignud Jhwany| ptivinuhg  B20
F100 s
9 hhuptp us 12,84 115869,600 1487 765,664
hpwuubn gl 31,29 115869,600 3 625 559,784
10 | Npduwywuwihu wdpwuubp @16 A500c I=144ud g 27,24 790,200 21 525,048
Ubunwnwlwu dwpin=12204d funnnywyh
" nbnwnpnud.1gdd= 357.49 Yg. wwuwh hwuwn.12dd o H0 G PR i
12 :uggh b histradimypt wnsudh Ghuiding) ghnl B20 & 7,21 81405,900 586 936,539
Ludwdpwihu opwdblnuwgnid 2 obpn tnwp
0,000
) phunnuing
13 funnnywly gdd 47 7018,200 329 855,400
pbwnnu g2 114,54 1256,400 143 908,056
22 | Rwpwjhu hgp IS 0
Lbwnwnuwné |hgp 0,000
w)pnnngbipny 10elV gl 130 808,200 105 066,000
14 | w)pnynngbipny 9a-vV
p)dbnph woluwwnwupny 10elV 5 14 1795,500 25137,000
p)atinph woluwwnwupny 9a-V
Cunwdbkup 37 921 875,543
Ubwnwnulwu dwpin=15204d funnnjwulubph nbnunpnud
9a-V fwngh puwhnnh thfuptignud
1 1Y 4341,600 0,000
wwyprwugpwihu thgpbipny h=0.54
20a-VIl wpgh puwhnnh thfupbgnud
2 gl 5578,200 0,000
wwjpwugpwjht |hgptipny h=0.54
206-VIIl wpgh puwhnnh thfupbgnud
3 a2 9140,400 0,000
wuwjpwugpwiht |hgptipny h=0.54
<nnwjhtu wtuwwnwlpubp hnh ninndwu hwdwp
1 | kpu.1.0 d3 2.n. pwpdnud w/h U inbnwith. [gwynyn s 27,5 1293,300 35 565,750
1.04d hbin. Jpw 10e-1V
<nnwjhu wotuwwnwupubp bwpuopnp thfuptigwd
4 | puwhnnnud hniuh ninndwt hwdwp Epu.1.0d3 2.un. . 00
T | pwpdnWd w/h b wnbnwih. |gwynywnn 1.0yd. htn. dpw U Teanall %0
9a-V
<nnuihtu woluwwnwupubip uwtuopnp thtupbiguwsd
puwhnnnud hnh nipndwu hwdwp Epu.1.04d3 2.un. . 4700 0.000
! pwpanwd w/h b nbinuith. lgwynywn 1.04d. hbn. pw . 19640 :
20a-Vll
<nnwjht woluwwnwuptbp uwfuopnp thfuptigywsd
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wnbnwip. gwynyw 1.04d htn. ypw 10e-IV
<nnuiht wotuwwnwuplin uwtuopnp thfupbigwsd
- puwhnnnud funnndwyh thnunpwyh thnpdwt hwdwp 5 1964.700 0.000




V jwngh puwhnnnud hniuh nuipnwu hwdwp

|

r Znnujht wotuwnwitplbin bwfuonnp thiupbigwd
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4 | Ujwquinuwbwht bwhiwy. h=10ud ' a3 2.25 6410,700 14 424,075
5 |/hubuyhl hhup h=30ud | 38,92 5255,100 204 528,492
|9 uwdwuh Yunnignud dpwény| pivinupg  B20
F100 i |
. hhdptin l y? 7,58 115786,800 877 663,944 J
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